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Reactionless propulsion
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See the Unified Absolute Relativity Theory at:
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It's possible to violate, locally, the momentgonservation law and make a
propulsion system with no reaction mass.

UART general energy formula:
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h — Planck constant; f — Frequency; ¢ — Liglgtesh w — Phase speed;
n — Refractive index.

Group speed:

N -- Group speed index.

Momentum:
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Reactionless system, n = 1.5:
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Frequency:
f =n*f,
Quantum mechanics admit energy conservatiotols in time:
AEAt =h
So, it must admit momentum conservation violagiin space:
ApAx =h
The reactionless action is the mechanism ofdhaes. This mechanism generates
pushes and pulls.
There’s a local violation of the momentum comagon, but if we use a frame out of

our universe the violation disappears if the urseanoves a little.

If by reactionless action we move a mass of T@@s a distance of 10 light years, the
universe move40™>'m

Our universe can be a subatomic particle inf@ranegauniverse.



